*UXSD 5RJNiDG =03 O,

/DVIRB

17 7\J

NI 7N\
o 3UJHGPLRI IDNXHDINZQ\ 3UJHGPLRI IDNXHDINZQ\
™ - GUKDE 3DSFR - GUKDE 3DSFR
ODUIQ $% NI ODUIQ $% NI
$% 7N\ $% 7\G]
030, - 030, z
7N\J

= "
T 3UJHGPLRI IDNXIDINZQ\
E - GUKDE 3DSFR
= ODUILQ $% 7\G]
N $% 7N

$% 7\G] =03

o, -

NI NI NI
o) SURIHNI LQT\QIHUWNL PJU GILPDN =DPLDQ 3UJHGPLRI IDNXHDINZQ\ *UDIIND NRPSXIHURZD L
8 $% .20387(52:% -030, - GUKDE 3DSFR PXILPHGID Z GU *RID
=) 1/ ODUILQ $% NI SUIXU $% -03,,

$% 7\G] - 2030, -
030, z
7N\J NI
— (INND Z  GU *DiHFNL 6HEDVILDQ $ - 03 2SURJIIDPRZDQH
o3 o, z HGXNDF\IQH DE GU
- RZDIVNL -DURViDZ $%
=030, 1/

=
™
o
©




